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3.Sutartinpolkė

q=100















Skud h,c,d

Skud a,h

Skud g,a

Skud f,e

Skud C,D

Skud G

2 Lazdelės





    
f

      

   
f

       

   
mf
    


    

mf


 

  
mf
     


    

mf

  

 
mf
        


   

mf
 

 


mf
           




   
mf

 
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
*1-Mušti dvi lazdeles viena į kitą nurodytu ritmu.

                        
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    
 


  


  


  


  


 

f

f

   
  

    
                            
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













D

q=452.
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 

 
f

            
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    
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    

 
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  
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       
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  

  
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 
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             
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56 q=65
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 
                     

 


                       

 
  
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           

 
    
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 

    

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